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29T LOPH
2019
. LOGIC AND PHILOSOPHY |

Full Marks : 100 -

~ Pass Marks : 30
Time : Three ’hm.ufs‘

The figﬁres in the mdrgin indicate full marks
| for the questions.

Q. No. 1 carries 1 mark each C 1x12= 12
Q. No. 2 - 13 carries 2 marks each | 2x12 = 24

| Q. No. 14-23 'car'ries 4 mﬁrks each | 4x10 = _40 '
Q. No. 24 - 27 carties 6 marks each  6xd = 24
| | Total - 100
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What is fhe main subject matter of Logic? = - 1
SHR@I 7 Sy {Ew & 2

Is the conclusion of Unscientific Induction certain ? 1

SRR St Frare HEve TorT & ¢ e

Is there ’i.nductive' 1eap’ in Perfect Induction ? .' 1
91‘@( WW@ S oA SR ?

The Paradox of Induction is connected Wlth the Pnnuple of the
Uniformity of Nature. Is it true ? 1

| Wﬂwﬁmmazﬂ%mwm%a%mwuwm@w 2

€

Which is the first stage of hypothe51s suggested by Mill’s

defmltlon of hypothesis ? | i
o1 2R W SRPIR AFHT e wtm ﬁs ?
What is the meaning of ‘vera causa’ ? R ' ' 1
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What is the exact object of moral judgement ? 1 '
e Rorm ags Rame S ¢

Name the theory which states that the external worlg can be
directly known. - -

Wﬁ@mmwﬁawm{%wmm%?

Is the conclusion of Method of Agreement certain ? 1
TEHl e Pas fRve o 2 |

Ethics is a positive science. Is it true'? . 1

Mo ReafAd R | SAG! o= 2
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, (k) From which Sansknt root the word ’Dharma is denved ?2 1

-‘dW%ﬂ%&:ﬁWW?@? | 4
- () Which principle of ehmmatlon forms the ba81s of Method of
'+ Agreement ? : 1

ST mﬁwewwﬂaﬁaﬁﬁs

‘State two points of differences between deduction and induction.

ROl I AR S < 7Y A S T

Why the law of causation is called the formal ground of induction ?

, : : 2

iR R B e SioRste o6 @ =
Define Scientific Induetiqn. o | 2
e ST et | |

. State any two qualitative marks of causation. ' | 2
IR Rieprear 757 @eore o T I

Or / 2 '

Define conjunction of causes with an. example. o 2
a%r%‘wr@mmqwmwﬁmn |

How many types of ver1f1cat10n are-there in a hypothe31s and what

are these ? 2

R ST (R il e |
Or/ d |

What do yeu mean;by analogical‘hypothesis ? .2
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Write tweo criticisms of Nalve Reahsm | ' 2

WW zﬁ‘mﬂmmmﬁml

Give a definition of Idealism in your own words. -

Co ﬁwmw'@mﬂwﬁml

~ Distinguish between fallacy of non-observatlon and fallacy of mal-
_observation. y "o

WW—WW mw@wm@ﬁcﬁwl

Write two advantages 'of observation as the . 6
mater
Induction. - 1a1 ground of

mﬂwmﬁﬁﬁsmﬁ%w 751 SRt Bt |

Why the Ideahsm of Leibnitz is called Plurahstm Ideahsm ? 2
iEefeR SRRWS R Wﬁ SRR @ = 2 o
Define negative condition with the help of a suitable example
1+1=
@WW«Wmﬁiﬂmﬂ*@Wﬂﬂmﬁm =

Write the name of one primary and one secondary quality. of an

object. Lelon
G 451 A S GO e Qo i &)
State the qualitative marks of a cause. .

Gt PR mef—aﬁci 351 B |

Or / 7t

What do you mean by plurality of causes ? Why plu
is not scientifically acceptable ? y plurality of C2a112sez
+

PR 3 AR SR R I8 2 TERR R R e
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Do you support Naive Reahsm ?°Give reasons in support of your

view. - 1+3=4 '
WWWQ&«W ? Wmmﬂ%q@m@1
What is ’Cruc1a1 Instance’ ? Explain. . | | “ .4

Feffre 7o ﬁsmmnwu

~State two advantages and two dlsadvantages of the Method of
. difference. A 2+2=4

4'.3}%@5‘1@*‘[@? zﬁ‘rqﬁmw gﬁ/@vﬁaﬂ@mﬁ@n

18.

19.

20.

Or/ =d

Wnte two advantages and two dlsadvantages of .the Method of
Agreement. 2+2=4

) ~Elee. 7o A S 757 sPpRat Bt

Briefly express any four characteristics of Scientific Realism. =~ 4

@i ATV Rl s1R5r (AR oL edrd

Name the phllosopher who made the. statement Esse Est Perc1p1

"Explain the meaning of the statement. 1+3=4

‘ererre I€ ROuH —ﬁ%aﬂ‘e@@ﬂ*ﬁ@?mﬁw
@Wﬁwﬂaﬁ*@ﬂu :
Or / Tzt

Do you think that Hegel’s idealism tries to reconcile idealism and
realism ? Explain. : : 4

@WWWWWWW@W cssiasﬁzeq%
ol SR 2 goR i

'Explain' brieﬂy the Dharma and Artha as Purusarthas. 242=4 '

- sy i of o 9 5T PN T |
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22,

24,

25.

- Unscientific Induction and Analogy o " 343=

Or/WI‘??T

State four important aspects with which Etl'ucs deals - 4|

-:ﬂﬁm—wﬁ@mw@wq«fﬁmawwwu

Write a note on Plato’s Ideahsm o ‘ 4

(BB SRRV @oive 9fp mﬁém

Write briefly the nafure of réligioh. S ) o ‘ 4
R T T I B |

Briefly explain the four stages of hypothesis. g
4TS B ST 5y Sl 1| | |

State amy J three similarities and an y three dissimilarities between .

- or/ WI??T

' Deflne Unsclennﬁc Inductlon and state lts main characterlstlcs

W?awﬁasmﬂwvf\wﬁmwimsﬁmww W|1+5_6

Define the Joint Method of Agreement and leference with concrete
example. State fwo advantages and . two dlsadvantages of this

method. D+240=¢
AT BRI BT fire vt yfor w&ﬁwawﬁmmaaw 757
Rl S 75 SRa Sra Sl o

| Or / Iz
Explain the Method of Residues with examplés,
CNRIFIR ARG 2Tl gt 4 |
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27.
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Explain Aristotle’s view on causation. . ' 6

:asm A aﬁ-‘@%’m et I I

Or/ﬂ/??f

Explain the Law of Causation as one of the formal grounds of

Induction. S ’ o 6

“Religion and Morality are mutually depéndable” — Discuss it.
- - _ 6

.“ﬂfﬂ@%ﬂ@ﬁﬁé@%”——@ﬂﬂﬂﬂl

Or/ 2

What do you mean by Religion? ‘Which is the most acceptable
defmmon of Religion ? Explam two characterlstlcs of Religion.

. 2+2+2—6
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